MOUNTING SUGGESTIONS:
Indian Chieftain, Chief Vintage

& Chief Classic 2014-18

Wide Touring Solo with Driver Backrest &
Passenger Seat with Passenger Backrest

Hardware included: ~ Amplifier relocation bracket
Plastic spacer
White nylon washer
1/4"-20 x 5/8" screws x2

Tools needed: 5 mm Allen wrench
6 mm Allen wrench
Phillips screwdriver

Removal of Stock Seat:

1. Remove the 8mm screw from the
rear bracket using a smm Allen
wrench. (Fig. 1)

2. Remove the right and left side
covers by pulling straight back,
releasing the studs from the rubber
grommets (There are three grommets Fig. 1
holding each cover). (Fig. 2)

3. Using a 6mm Allen wrench, remove
the screws from the side brackets on
both the right and left side of the seat.

(Fig.3)

4. Lift the rear of the seat and pull
away from the tank to remove the Fig. 2
stock seat.

Handcrafted in &% mustangseats.com



Installation of Mustanqg Seat:

5. To relocate the amplifier if
necessary, remove the two T-25 Torx
from the stock mounting bracket and
mount the amplifier to the supplied
bracket. Remove the two M6 bolts
holding the mounting bracket to the
bike. Using one of these M6 bolts,
mount the bracket with the amplifier
through the plastic spacer and into
the hole on the left side of the frame.

6. Attach the Mustang passenger seat
to the driver seat before installing it
on the bike using the two supplied
1/4" x 5/8"-20 screws. Line up the
holes in the passenger seat brackets
with the two locations on the driver
seat and tighten them with a Phillips
screwdriver. (Fig. 4 & Fig. 5)

7. Install your Mustang seat by
lowering the front of the seat first,
then slide the seat forward until the
front bracket engages under the two
tabs on the bike frame. (Fig. 6)

Push forward until snug, then lower
the rear of the seat.

8. Reinsert the two 8mm Allen bolts
on both right and left side brackets of
the seat. Tighten with a 6mm Allen
wrench. (Fig. 7)

800-243-1392 * 413-668-1100




Installation of Mustang Seat: (cont.)

9. Use the supplied white nylon
washer and put it in place underneath
the bracket on the seat. Then reinstall
the 8mm screw through both bracket
and washer, tightening with a smm
Allen wrench. (Fig. 8)

10. Reinstall the right side cover by
lining up the studs on the cover with
the rubber grommets on the bike, and
push in place.

11. To install the left side cover, it is
easier to open the saddle bag lid first.
Then line up the cover and push into

place. (Fig. 9)

12. If you purchased a seat with an
adjustable driver backrest, just pull
back the leather flap and insert it into
the receiver. You will feel it engage at
multiple heights. (Fig. 10)

13. The driver backrest can be taken
out and used for as a passenger
backrest as well if passenger seats
79761 or 79763 are used.

Just pull back the leather flap and
insert into the receiver. Then make
sure to tighten the passenger backrest
in place by turning the thumb screw
until snug. (Fig. 11)

Handcrafted in &% mustangseats.com




Enjoy the comfort and custom look of your new Mustang seat!

These steps are guidelines to help you install your new Mustang product. If you need
further assistance, please call us at 800-243-1392 or 413-668-1100, Monday through

Friday 9:00 - 5:30 Eastern or send an e-mail to questions@mustangseats.com or visit
our website at www.mustangseats.com.

For care and maintenance of our seats, please go to our website under "Support".

Refers to part numbers: 75360, 75361, 75362, 75363, 79760, 79761, 79762, 79763

r You are cordially invited to
— Tour the Mustang Factory—

See how our craftspeople take pride in transforming raw
materials into the world’s highest quality, most comfortable
handcrafted seats. Please contact Mustang for more information
regarding tours of our historic Three Rivers, Massachusetts,
facility (only 75 miles west of Boston; 150 miles northeast of
New York City). Our two hour tours are by reservatign only;
we can accommodate groups from 2 to 24. We promise you
will ride away with an entirely new awareness of what you
put between you and your bike.

800-243-1392 * 413-668-1100




